2750 S 05-06 Hugger

Fitting Instructions

Fitting kit contents

1 x hugger

2 x m6 x 12mm Allen button head bolts
2 x m6 Nyloc nuts

2 x black plastic washers

1 x triangular bracket

As with all huggers this model is designed to fit close to the tyre section, and as such should
not be used where an oversize tyre is fitted.

Fitting Instructions.

1. Remove the brake pipe guide bracket fixing bolt from the swing arm, leaving the bracket
attached to the brake line.

2. Remove the chain guard retaining bolts and take off the chain guard.

3. Loosely attach the triangular bracket on the inside of the Pyramid hugger (as figure 1)
with the bend facing away from the tyre using the 2 M6 x 12 bolts with the 2 plastics
washers on the outside and the 2 x M6 Nylock nuts on the inside.

4, Take the hugger and feed it in over the wheel from the rear.

5. Offer up the chain guard side to the chain guard mount brackets and loosely attach the
original bolts.

6. Using the original bolt loosely attach the triangular bracket on top of the brake pipe
bracket (as figure 2) back to the swing arm.

\

NN

N
D > =

Figure 1 Figure 2

7. Check the hugger is evenly spaced from the tyre from both sides of the bike.
8. Tighten the chain guard side bolts then the brake pipe bracket bolt.

9. There will be some play in the holes so, if needed, a better fit can be achieved by
loosening the bolts, positioning the hugger by pulling the relevant side and re-tightening the
bolts while being held in required position.

10. PLEASE NOTE THESE IMAGES SHOW A SILVER BRACKET FOR CLARITY, THE FITTING KIT
WILL CONTAIN A BLACK BRACKET TO MATCH THE BLACK SWING ARM ON THE BIKE.



